“=EPD’

THE INTERNATIONAL EPD® SYSTEM

ECDO PLATFORM

VERIFIED



Contents

03
04
05
06
08
09
10
12
13
14
16
)
20

EPD PROFILE

COMPANY PROFILE

PRODUCT DESCRIPTION

EPD PRODUCT INCLUSIONS
PRODUCTION

MANUFACTURING PROCESS
SYSTEM BOUNDARIES

END OF LIFE

LIFE CYCLE INVENTORY
ASSESSMENT INDICATORS
ENVIORNMENTAL PERFORMANCE
SUSTAINABILITY INITIATIVE
REFERENCES




EPD Profile

An Environmental Product Declaration, or EPD, is a standardised and verified way of quantifying the environmental
impacts of a product based on a consistent set of rules known as a PCR (Product Category Rules).

ASP Access Floors has the sole ownership, liability, and responsibility for the EPD. EPDs within the same product category
but from different programmes may not be comparable. For two EPDs to be comparable, they shall be based on the same
PCR (including the same version number up to the first two digits) or be based on fully-aligned PCRs or versions of PCRs;
cover products with identical functions, technical performances and use (e.g. identical declared/functional units); have
equivalent system boundaries and descriptions of data; apply equivalent data quality requirements, methods of data
collection, and allocation methods; apply identical cut-off rules and impact assessment methods (including the same
version of characterisation factors); have equivalent content declarations; and be valid at the time of comparison.

EPDs of construction products may not be comparable if they do not comply with EN 15804. The results for EN15804+A1
compliant EPDs are not comparable with EN15804+A2 compliant studies as the methodologies are different. Results that
are EN15804+A1 compliant are given in this document to assist comparability across EPDs."

EPD Owner: ASP Access Floors

¢ .
‘ “ AS P 32 Prime Drive, Seven Hills, Sydney NSW 2147,
-« ol

Australia

access f|00 rs Angela Zlatar, Sales and Marketing Manager
'.' INTERNATIONAL Email: angela@aspfloors.com.au

LCA Accountability: thinkstep Pty Ltd

H 25 Jubilee Street, Perth, Western Australia 6151,
thl nks tep Australia

anz Web: http://www.thinkstep-anz.com
Email: anz@thinkstep-anz.com

Programme Operator: EPD International AB
Box 210 60, SE-100 31 Stockholm, Sweden
- E P D ® Email: info@environdec.com
Regional Programme: EPD Australasia
ENVIRONMENTAL PRODUCT DECLARATION 315a Hardy Street, Nelson 7010 New Zealand

P: +64 9 889 2909 P: +61 2 8005 8206
Email: info@epd-Australasia.com

Third Party Verifier: Jonas Bengtsson
Edge Impact, Greenhouse, Level 3

[ ]
Y d E I m aCt 180 George Street Sydney NSW 2000
> ® Australia

Email: jonas.bengtsson@edgeimpact.global
Approved by: EPD Australasia

CEN standard EN 15804 serve as the core Product Category The EPD owner has the sole ownership, liability, and

Rules (PCR) responsibility for the EPD.
Product category rules (PCR): PCR 2019: 14 Construction
products, version 1.3.4 Third-party verification

PCR review was conducted by: The Technical Committee of Independent verification of the declaration and data,
the International EPD® System. See www.environdec.com for according to ISO 14025: 2006, via:

a list of members. EPD verification by individual verification by individual
Review Chair: No chair appointed verifier.
Independent verification of the declaration and data, Third-party verifier:  Jonas Bengtsson
according to ISO 14025: jonas.bengtsson@edgeimpact.global
|:] EPD process certification (internal)
EPD verification (external) Verifier approved by: EPD Australasia
Procedure for follow-up of data during Yes |:]
This EPD can be used to claim points under Green Building  EPD validity involved third-party verifier No

Council Australia (GBCA) Green Star rating tools, specifically

Material credits (up to 7 credits total) and Responsible

Building Material Credits (up to 3 credits) in the Green Star

Design & As Built tool. 3


mailto:onas.bengtsson@edgeimpact.global

N M

ASP Access Floors Pty Ltd is a global leading company that specializes in manufacture, distribution, and installation of
access floors around the world. Our sole mission at ASP is to provide all our clients with exceptional products and service.

Since our conception ASP has delivered some of the most effective solutions on the market. Through research and
analysing current trends and problems that occur with access floors, we have already developed some of the most unique
and effective products on the market.

< Ease of Configuration
The modular design of the access floor enables businesses to re-configure their offices.

$ Cost

The cost differentiation between the installation and maintenance of traditional suspended ceiling system vs. ASP

access floor system are exceptionally high. Overall access floors are approximately 40% cheaper to install and
maintain services.

Project Timeline

Installing services in the floor in lieu of the suspended ceiling system dramatically cuts the time of installation, which
in turn cuts the overall project construction time.

{} Maintenance
{5

Services can be maintained regularly and without lengthy time delays as service personnel are able to isolate and
service zones as required, which minimizes the interruptions to your work.

Comfort

g With HVAC system installed in the floor, employees can individually control air pressure and temperature through
their office floor diffusers.

The use of access floors in the workplace is rapidly gaining popularity within the
construction industry. Their specifically designed flexibility and capacity to change
has made access floors the perfect solution for many owners, developer, designers

and facility managers.




Product Description

The access flooring system is made up of floor panelsand  The under-structure system is composed of Field and

pedestals. The Evo panel is a robust lightweight Perimeter Pedestals consisting of a head and a base,

cementitious panel which is steel encased to help provide  attached together with a gasket. Different combinations are

maximum durability. The Evo panel is the most specified available to control the cavity height.

panel in the industry and is regarded as ASP Access Floors’  ASP Access Floor products are used in a variety of

standard panel for numerous applications. applications e.g. general office areas, gaming areas,
education facilities, banks, libraries etc. Before designing the

The standard Evo panel (600mm x 600mm) consists of a layout and functionality of an access floor, the load capacity

powder-coated high-density steel shell and edge. and tolerance are determined (concentrated load, ultimate

A cementitious core (cement, fly ash and grey water) is load, uniform load, impact load, rolling load) and the

injected to provide a robust sound-dampening flooring relevant ASP Access Floors componentry selected.

surface.

EPD Product Inclusions

The Evo System is a stringer-less system where the panels are individually screw fixed onto the pedestal heads (Figure 1).
This system is widely used for electrical and data cable management, and for applications where there is a need for an
under-floor baffle/plenum of air highway. This system is recommended for applications such as general offices, banks,
learning institutions and libraries.

Figure 1:

System allows fast, 4 corner screw panel

efficient installation \ T

Patented panel design with inbuilt
expansion joint and acoustic cutout

Locating gaskets on

pedestal heads for efficient
installation \ Pedestal Features: Adjusting and locking
nut, locating gasket, Sounds Impact

Buffer, Inbuilt expansion joint gasket

Table 1: Industry Classification

PRODUCT CLASSIFICATION CODE CATEGORY
Prefabricated structural components for
UN CPC Ver.2 37550 building or civil engineering,

of cement, concrete or artificial stone
Evo

Access Floor System

ANZSIC 2006 324 Building Completion Services




EPD Product Inclusions

PRODUCT NAME PANEL FFH PEDESTALS STRINGERS
EVO Medium Grade (600x600mm) 110-180mm Field Pedestal: S3 /
Evo Panel Perimeter Pedestal: S4
EVO Heavy Grade (600x600mm) 110-180mm Field Pedestal: S3 /
Evo Panel Perimeter Pedestal: S4

Table 2: Content declaration (per 1m? product)

PRODUCT

COMPONENTS WEIGHT, KG POST-CONSUMER

RECYCLED MATERIAL, BIOGENIC MATERIAL, BIOGENIC MATERIAL,

EVO WEIGHT OF PRODUCT - WEIGHT-% KG C/m?
(medium) (heavy) %
Steel
14.7 16.4 41 0 0
Cement
13.8 13.8 36.2 0 0
Fly Ash
3.46 3.46 0 0 0
Grey Water
3.46 3.46 0 0 0
Epoxy Paint
0.417 0.417 0 0 0
Aluminium
0.207 0.207 0.5 0 0
Zinc Paint
0.122 0.122 0 0 0
ABS
0.019 0.019 0 0 0
Rubber
0.003 0.003 0 0 0
Total
36.2 37.8 77.7 0 0

Table 3: Composition of packaging (per 1m? product)

PRODUCT COMPONENTS

WEIGHT, KG WEIGHT, KG

WEIGHT % BIOGENIC MATERIAL

i (VERSUS THE PRODUCT) KG C/m?
EVO (medium) EVO (heavy)

Cardboard 0.131 0.131 0.354 0.0655
Wood 0.529 0.529 1.43 0.265
PE film 0.0222 0.0222 0.06 0
Steel 0.0680 0.0680 0.184 0
Total

0.750 0.750 2.03 0.330







Production

All components of the Evo flooring system are manufactured, assembled and supplied by Changzhou Wujin Zhongtian
Computer-Room Equipment Co. Ltd in China. The cementitious compound, steel, and aluminium used have verified
recycled contents of 97%, 97% and 100% respectively.

The manufacturing process for each component is described briefly below.
Panels Pedestals

600mm x 600mm sheets of mild steel are spot welded The steel plates are punched and then welded onto
together with a 1.5mm edge to form a solid steel case. individual threaded rods. The resulting bases are powder
The case consists of an enclosed die formed cupped coated and a nut is added to the threaded rod. Field
bottom pan and a steel top sheet. The steel provides the pedestal heads (S3) are die-formed punched aluminium
structural strength to the panel. A cementitious core threaded onto a steel threaded tube. The inbuilt
consisting of cement, fly ash and grey water, is injected  expansion joint gasket is moulded ABS. Perimeter
between the sheets to provide sound dampening and pedestal heads ( S4) consist of a punched steel plate
additional strength. Panels are then powder coated in an welded to a steel tube. This is zinc plated and a moulded
epoxy paint finish. ABS plastic gasket is attached.




Manufacturing Process

R % e — 8L
e
Cement Fly ash Steel slab Paint  Steelrod

¥ ¥ . v ¥ ¥

Electricity &
Natural Gas

Packaging
material

Waste
v v b
INSTALLATION Fuel — o
4 (A3) Plywood Installation

Adhesive & .
sealer

Waste — Packaging waste

management

Legend
Internal flow External flow Installed Access Floor
(no transport) (incl. transport)
END OF LIFE (C1-C4)
5 A Deconstruction

A- Transport

o' Y l
Ty = o
W oo



System Boundaries

As shown in the table below, this EPD has a scope of ‘cradle-to-gate with modules A4, A5, C1-C4 and module D’, as shown in
Table 4. Other life cycle stages (Modules B1-B7) are dependent on particular scenarios and best modelled at the building
level.

Table 4: Modules included in the scope of the EPD

RESOURCE
CONSTRUCTION
PRODUCT STAGE PROCESS STAGE USE STAGE END OF LIFE STAGE RECOVERY
STAGE
®
=
oo [
< i=4 )
'r_; ] S g ) 'g 2 S
> e ) =) 4] ) = ] |
S ] S © S S ) o a0 o0
o © 0 o = o o k= & S £ 2 < £
2 1S = k7] 3 9] S o S =1 z o 2 _ S
= 2 2 3 £ 5 = £ £ c b 2 ] g ] 3
2 © 5} o -~ g < I [} = ¢ - c @ o S A
5} - & 2 c =] 2 o) S = © < S 2 s 2 <
© o > £ o c o« 2 = = S = o 2 >
£ £ 5 S B < & 2 S = S 2 2 a S
z 2 > a 2 2 e & I 2 2 £ o 3
© & S ° ] v 2 Q = o
-3 c o c o =3 ] 2 Q
© — 5] o (@] 2 2 o
= o © !
e = b
>
[}
o
Al A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 c1 c2 c3 c4 D
X X X X X ND ND ND ND ND ND ND X X X X X
Geography GLO | GLO CN ME ME ND ND ND ND ND ND ND ME ME ME ME ME
Specific Data 7.3% - - - - - - - - - - -
Variation:
<10% - - - - - - - - - - -
Products
Variation:
. 0% - - - - - - - - - - -
Sites

X =included in the EPD; ND = Module not declared (such a declaration shall not be regarded as an indicator result of zero)

The processes below are included in the product system to be studied. For modules beyond A3, the scenarios included are
currently in use and are representative for one of the most probable alternatives.

Product Stage (Modules A1-A3)

All components of the EVO flooring system are manufactured, assembled and supplied by Changzhou Wujin Zhongtian
Computer-Room Equipment Co. Ltd in China. Module Al (raw material supply) includes the production of metals, cement,
plastics as received by the supplier. Module A2 (transportation) includes the transport of these raw materials from
producers to the supplier. All raw materials are produced within 100 km distance, and transport by truck was assumed.
Module A3 (manufacturing) includes the processing of the raw materials into the finalised components ready to be
assembled; this includes the production of the cementitious panels and pedestals. Module A3 also includes the packaging of
the finished components. Since Module Cis included in the EPD, the use of Module A1-A3 (A1-A5 for services) results
without considering the results of Module C is discouraged.

Transport to Customer Stage (Module A4)

Distribution includes transport of product from the manufacturing site to customers in the Middle East. This is based on the
sales weighted average transport distances and is not representative for any given customer. Customers should individually
establish the transport requirements between distribution centre and their site rather than relying on the average.

Construction/Installation (Module A5)

After being delivered to the construction site, access floor parts (panels, pedestals and fixing screws) are unpacked and
installed. Depending on the building site, the product can be mechanically lifted using diesel machinery. As a conservative
assumption, fuel consumption was estimated using the gravitational energy potential for product lifted 20 m with a 10%
diesel efficiency. 10




Table 5: Transport to building site

SCENARIO INFORMATION

Fuel type and consumption of vehicle or
vehicle type used for transport e.g. long
distance truck, boat etc.

End of Life (Module C)

UNTI (EXPRESSED PER
FUNCTIONAL UNIT OR PER

DECLARED UNIT)

Litre of fuel type per distance or
vehicle type, Commission Directive
2007/37/EC (European Emission

to a processing facility (C2).

Distance

Capacity utilisation (including empty
returns)

Bulk density of transported products

When a building reaches its end-of-life it will be
demolished (C1) and the demolition waste transported

Standard) The waste processing (C3) includes the separation of

K steel waste from other building materials and shredding
activities. Material that cannot be recycled will be

% disposed (C4).

Kg/m3

Volume capacity utilisation factor
(factor: =1
or<1orz21forcompressed or nested
packaged products)

Not applicable

Table 6: Installation of the product in the building

Ancillary materials for installation (specified by material);

The end-of-life stage (Modules C1-C4) and resource
recovery stage (Module D) are modelled using a
scenario reflecting end-of-life recycling/ landfilling rates
for steel products in the construction sector.

UNTI (EXPRESSED PER FUNCTIONAL UNIT OR PER DECLARED UNIT)

SCENARIO INFORMATION

Kg or other units as appropriate

product’s installation (specified by type

Water use m?3

Other resource use kg

Bulk density of transported products Kg/m3
Quantitative description of energy type and consumption during the installation kWh or MJ
process

Waste materials on the building site before waste processing, generated by the Kg

route)

Output materials (specified by type) as result of waste processing at the building Kg
site e.g. of collection for recycling, for energy recovery, disposal (specified by

Direct emissions to ambient air, soil and water Kg

Table 7: End of life scenarios for products

PROCESS

Excavator

UNTI (PER DECLARED UNIT AND TYPE OF MATERIAL)

Equivalent weight of 1 m2 of access flooring

REFERENCES

Recovery system specified by type

Metals, 90% to landfill, 10% recycled

Plastics, 100% to landfill. We considered the

United Arab Emirates (AE) as a proxy for the region where ASP markets its products. As
per reference, waste management “activities are not well documented”, and “no official
statistics are available regarding construction waste generation and handling practices
including reuse, recycling and disposal rate”. Therefore, we assumed the most
conservative scenario with all materials going to landfill. As per reference, waste
management “the recycling section is underdeveloped”, and “hardly 10-15 percent of
the waste is recycled”. Therefore, we assumed the most conservative scenario with all
materials going to landfill.

All other material landfilled

(zafar, 2018)

Disposal specified by type

Steel: 100% modelled as ferrous metals in landfill
Waste core: 100% Inert matter on landfill
Plastic: 100% Plastic waste on landfill

Assumptions for scenario development

Assumptions for scenario development

¢ C1- Demolishing with an Excavator (100 kW) - Fuel consumption is calculated at
0.172 kg diesel input per tonne of material.

e C2-50km of transport by truck




Recovery and Recycling potential (Module D)

Module D declares a potential credit or burden for the net scrap associated with ASP Access Floors’ products. Net scrap
is the amount of scrap left after scrap from post-consumer needs is removed from scrap produced from the product.
That is, secondary product used in product manufacture is subtracted from the overall amount of recycled product after
the first life cycle. If the net balance is positive, a credit is given. The credit is calculated by comparing the impacts
associated with primary product produced.

Life Cycle Inventory (LCl) Data & Assumptions

Primary life cycle inventory data was used for all manufacturing operations up to the plant gate, and for all installation in the Middle
East. Primary data were collected for product manufacturing, distribution, installation, and end-of-life for the year 2022 (from 2022-01-
01to 2022-12-31).

Upstream Data

Chinese and Middle East-specific datasets have been used where available, including the Chinese electricity mix regionalised for East
China. Other energy sources generally use Chinese (for production) or Middle East (for installation) datasets, for example, diesel. Water
inputs are modelled as tap water, regionalised for China. The upstream production impacts for materials used in the products were
calculated based on the quantities in the Bill of Materials, uplifted for any production waste, and using dataset-specific impacts
extracted from Sphera databases.

LCA Software & Database

The LCA was modelled in LCA for Experts 10.7 from Sphera Solutions. All data in the background system was from the Sphera Life Cycle
Inventory Database 2023. Documentation can be found at: https://sphera.com/product-sustainability-gabi-data-search/

Note that all MLC datasets have as a minimum their energy upstream (and any energy upstream present in their material upstream)
updated on an annual basis. In addition, all MLC datasets are updated whenever the technology or geographical mix of the producers of
a product changes significantly.

Electricity

The composition of the electricity grid mix was modelled in LCA for experts. Purchased electricity accounts for approximately 100% of
electricity used for access floor manufacture. The East Chinese electricity grid consumption mix (2019) is made up of hard coal (63.9%),
photovoltaics (11.2%), hydro (7.9%), nuclear (5.7%), wind (4.9%), natural gas (2.9%), coal gases (1.7%), biomass (1.5%), waste (0.1%),
and fuel oil (0.1%). The emission factor for the East Chinese national grid for the GWP-GHG indicator is 0.709 kg CO2-eq/kWh.

Transport

Transport data was collected from ASP for all input materials to all sites. The transport data included the transport modes and distances
from suppliers. Transport distances were mapped against each line of BOM data and used to calculate upstream transport impacts
using the calculated input volumes. Where transport data was not available, a standard value of 100 km was used.

Explanation of Average / Representative Products & Variation

Weighted average grouping was done for product lines under the two-load classification (medium and heavy grade). Overall, one group
were considered using weighted average sales.

The variation of the grouped results in relation to the weighted average result for the group is below +10% for all environmental core
indicators. Therefore, this EPD is of multiple products, based on the average results of Evo medium and heavy grade.

Cut off criteria
Environmental impacts relating to personnel, infrastructure, and production equipment not directly consumed in the

process are excluded from the system boundary as per PCR v1.3.4. All other reported data were incorporated and
modelled using the best available life cycle inventory data.

12



Allocation
Where subdivision of processes was not possible, allocation rules listed in PCR chapter 6.7 have been applied.

Multi-output allocation generally follows the requirements of ISO 14044, section 4.3.4.2. Site level data for electricity, diesel for mobile
plant (e.g. loaders), water, and lubricant usage are allocated by mass, based on the annual production.

Allocation of background data (energy and materials) is according to Sphera LCl databases; documentation is available at
https://sphera.com/product-sustainability-gabi-data-search/

Assumptions

United Arab Emirates and Regional Asia are used as a proxy geographical reference for the locations in the Middle East. The main
assumptions concern the use of secondary data and end-of-life modelling. Despite the low mass contribution, Zinc paint (Modules Al-
A3) and Adhesive (Module A5) show up as hotspots in several core environmental impact indicators (e.g. ODP, AP, EP-fw, EP-fm). The
LClI data for these materials is based on secondary data considered proxy for region or technology. We considered a conservative
approach for these datasets: Zinc paint composed by 90% zinc powder, and adhesive was based on the highest GWP-total impact
kg/kg CO2-eq dataset (Epoxy Resin) from MLC databases. These assumptions may have relevant contribution to the overallimpacts.
Modules C1-C4 were based on existing information for waste management in the Midde East of construction and demolition.
Plywood used to protect the ASP flooring during installation was assumed to be used in all cases, which is the conservative approach.
Also, when plywood is used, it’s usually sent to landfill as final destination, but other end-of-life options, such as reuse, could apply.




i ASP provides
businesses & developers
the perfect balance
between optimum
design & functionality

14



Assessment Indicators

The results tables describe the different environmental indicators for each product per declared unit, for each declared module. The EN
15804 reference package based on EF 3.0 is used.

Table 8 contains the core environmental impact indicators in accordance with EN 15804:2012+A2:2019, describing the
potential environmental impacts of the product.

Table 9 shows the life cycle inventory indicators for resource use.

Table 10 displays the life cycle inventory indicators for waste and other outputs.

Table11 provides additional environmental impact indicators in accordance with EN 15804:2012+A2:2019.

Table 12 displays biogenic carbon content indicators.

Table 13 contains results for environmental impact indicators in accordance with EN 15804:2012+A1:2013 to aid backward
comparability.

S 20 25 2 2K N 2

The estimated impact results are only relative statements, which do not indicate the endpoints of the impact categories, exceeding
threshold values, safety margins and/or risks.

Energy indicators (MJ) are always given as net calorific value.

Table 8: EN15804+A2 Core Environmental Impact Indicators

IMPACT CATEGORY ABBREVIATION UNIT

Climate change — total GWP-total kg CO,-eq.
Climate change — fossil GWP-fossil kg CO,-eq.
Climate change — biogenic GWP-biogenic kg CO,-eq.
Climate change —land use and land use change GWP-luluc kg CO,-eq.
Ozone depletion ODP kg CFC11-eq.
Acidification AP Mole of H* eq.
Eutrophication aquatic freshwater EP-freshwater kg P eq.
Eutrophication aquatic marine EP-marine kg N eq.
Eutrophication terrestrial EP-terrestrial Mole of N eq.
Photochemical ozone formation POFP kg NMVOC eq.
Depletion of abiotic resources — minerals and metals* ADP-m&m kg Sb-eq.
Depletion of abiotic resources — fossil fuels® ADP-fossil MmJ

Water use?! WDP m3 world equiv.

Table 9: Life cycle inventory indicators on use of resources

INDICATOR ABBREVIATION UNIT
Use of renewable primary energy excluding renewable primary energy resources used as raw materials PERE MmJ
Use of renewable primary energy resources used as raw materials PERM M)
Total use of renewable primary energy resources PERT MmJ
Use of non-renewable primary energy excluding non-renewable primary energy resources used as raw materials PENRE MmJ
Use of non-renewable primary energy resources used as raw materials PENRM M)
Total use of non-renewable primary energy resources PENRT MmJ
Use of secondary material; SM kg
Use of renewable secondary fuels RSF MmJ
Use of non-renewable secondary fuels NRSF MmJ
Total use of net fresh water FW m3

Table 10: Life cycle inventory indicators on waste categories and output flows

INDICATOR ABBREVIATION UNIT
Hazardous waste disposed HWD kg
Non-hazardous waste disposed NHWD kg
Radioactive waste disposed RWD kg
Components for reuse CRU kg
Materials for energy recovery MER kg
Materials for recycling MFR kg
Exported electrical energy EEE MJ
Exported thermal energy EET MJ




Assessment Indicators

Table 11: EN15804+A2 Additional Environmental Impact Indicators

INDICATOR ABBREVIATION UNIT

Climate Change? GWP-GHG kg CO,-eq
Particulate Matter emissions PM Disease incidences
lonising Radiation — human health3 IRP kBq U235 eq.
Eco-toxicity (freshwater)?® ETP-fw CTUe

Human Toxicity, cancer! HTP-c CTUh

Human Toxicity, non-cancer?! HTP-nc CTUh

Land use related impacts / soil quality? SQpP Dimensionless

Table 12: Biogenic carbon content indicators

INDICATOR ABBREVIATION UNIT
Biogenic carbon content - product BCC-prod kg C
‘ Biogenic carbon content - packaging ‘ BCC-pack ‘ kg C ‘
Table 13: EN15804+A1 Environmental Impact Indicators
INDICATOR ABBREVIATION UNIT
Global warming potential GWP (EN15804+A1) kg CO,-eq.
Ozone depletion potential ODP (EN15804+A1) kg CFC11-eq.
Acidification potential AP (EN15804+A1) kg SO,-eq.
Eutrophication potential EP (EN15804+A1) kg PO~ eq.
Photochemical ozone creation potential POCP (EN15804+A1) kg C,H,-eq.
Abiotic depletion potential for non-fossil resources ADPE (EN15804+A1) kg Sb-eq.
Abiotic depletion potential for fossil resources ADPF (EN15804+A1) MJ

1. The results of this environmental impact indicator shall be used with care as the uncertainties on these results are high or as there is
limited experience with the indicator.

2. This indicator is identical to GWP-total except that the CF for biogenic CO2 is set to zero. It has been included in the EPD following the
PCR.

3. This impact category deals mainly with the eventual impact of low dose ionizing radiation on human health of the nuclear fuel cycle.
It does not consider effects due to possible nuclear accidents, occupational exposure nor due to radioactive waste disposal in
underground facilities. Potential ionizing radiation from the soil, from radon and some construction materials, is also not measured by
this indicator.

For Evo products the following indicators are not relevant, hence result in zero values:
= Use of renewable secondary fuels (RSF)

- Use of non-renewable secondary fuels (NRSF)

- Materials for energy recovery (MER)

= Biogenic carbon content — product (BCC-prod)




Environmental Performance

Results for 1 square meter (m?2) of access floor installed.

Table 14: EN15804+A2 Core environmental impact indicators

ABB. UNIT Al-A3 A4 A5 c1 Cc2 c3 c4
GWP-total kg CO, eq. 33.0 7.16 11.1 0.0233 0.282 0 1.57 27.6
GWP-fossil kg CO, eq. 34.0 7.16 3.72 0.0234 0.282 (0] 1.06 27.6
GWP-biogenic kg CO, eq. -1.00 -2.80E-04 7.36 -2.33E-05 -1.30E-04 O 0.510 -0.00878
GWP-luluc kg CO, eq. 0.0115 9.37E-05 4.10E-04 4.90E-07 4.71E-06 0 0.00167 8.95E-04
ObP kg CFC11 eq. 1.09E-10 1.19E-13 6.60E-12 7.87E-16 8.04E-15 0 1.94E-12 2.72E-12
AP mol H* eq. 0.113 0.213 0.0214 1.15E-04 0.00161 0 0.00450 0.0604
EP-freshwater kg P eq. 2.62E-05 9.57E-07 4.19E-06 3.57E-09 4.69E-08 0 1.28E-05 5.60E-06
EP-marine kg N eq. 0.0254 0.0532 0.0104 5.36E-05 7.99E-04 0 0.00124 0.0105
EP-terrestrial mol N eq. 0.275 0.583 0.0890 5.87E-04 0.00878 0 0.0127 0.0931
POCP kg NMVOC eq. 0.0801 0.149 0.0446 1.51E-04 0.00151 0 0.00371 0.0426
ADP-m&m kg Sb eq. 2.24E-04 3.68E-08 1.08E-06 1.46E-10 1.36E-09 0 3.34E-08 9.70E-05
ADP-fossil M) 381 92.5 57.9 0.314 3.87 0 14.5 255
WDP m?3 world eq.

deprived 4.98 0.00744 1.70 3.89E-05 4.76E-04 0 0.0273 5.11

Table 15: Use of Resources

0.00105 0.00955 (0] 1.61 -12.7
M) 11.4 (0] -11.4 0 (0] (0] (0] (0]
M) 72.0 0.120 41.7 0.00105 0.00955 0 1.61 -12.7
M) 379 92.5 58.8 0.314 3.87 (0] 15.6 256
M) 2.03 0 -0.916 0 0 0 -1.12 0
M) 381 92.5 57.9 0.314 3.87 0 14.5 256
kg 37.1 (0] (0] 0 0 0 0 0
MmJ 0 (0] (0] 0 0 0 0 0
M) 0 (0] (0] 0 (0] 0 0 0
m? 0.0755 2.44E-04 0.0332 1.30E-06 1.25E-05 0 0.00122 0.117

Table 16: Waste Production & Output Flows

5.11E-07 1.60E-11 2.64E-08 2.01E-13 2.44E-12 0 9.44E-10 3.19E-08
kg 1.46 0.00192 1.07 1.85E-05 1.38E-04 0 355 -3.71
kg 0.00488 1.22E-05 2.27E-04 8.17E-08 5.71E-07 0 1.68E-04 2.47E-04
kg (0] (0] 0.0142 0 (0] (0] (0] (0]
kg 0.370 0 0 0 0 1.59 0 0
kg 0 (0] (0] 0 0 0 0 (0]
MJ (0] (0] (0] 0 (0] (0] (0] 0
M) 0 0 0 0 0 0 0 0
Table 17: Waste Production & Output Flows

PARAMETER

BCC-prod
BCC-pack

0.330

kg C

17



Environmental Performance

Table 18: EN15804+A2 Additional Environmental Impact Indicators

ABB. UNIT Al-A3 A4 A5 C1

Disease
1.64E-06 3.72E-06 2.65E-07 1.27E-09 9.75E-09 5.17E-08 8.44E-07
|nC|dences

e sea wse 1 oaws 2w o sm w0

Gun wseer asen amees suen asen o rawdo incos

GUn seor aaems imor 2ol imsees 0 rsseos  a7cor
i i 108 970

UNIT

T T ——r—
Gt AmEn  ieen  duen spes saes o amn suen
asores  omis  omo  oose swes omuo o oms oo
aroi-m omss  oo;s  om imess 2ecos 0 sucos ooms
acis,  oom  omus omes et meo 0 aweos oow
som. 2mEos  sebos  Ameos Lovw Awee 0 duces onees
W m om0 w3 ow w0 b am

Al-A3 A4 A5 C1 C2 Cc3 C4




Our sole mission at
ASP is to provide
all of our clients
with exceptional
sustainable
products _

|
i
- .I-"
II.
h
g 5
. [
. HE
4 P
A ; ! ]
i ¥ . ¢
AR i
d - L |
3 ) Hil
|
F. .| 1
T il
Fi ' . g 1
X H F 1 Ik
l.-. _-... . 1 -
h ; 3 i
'] _-' .
A Gl
. s
N -
A - &l
e |- &
s i
TR o o
. 3. k
i e
Al o | L2
o L
a - .
S ara] A
] -; =
2 il [
~ PN cH B LT
PR -
- 3 Ao
; i . 1 IR
L H T e e
L i B ERan s
; sl e e H ]
i RN s
e e SR g
I
'
= g
b3
] I
| i
i
| !
|
i
I
|
P |
= [
i
| e
|
- I|
i
.
S g
" I.-I m
B
PR e




References

General Programme Instructions for the International
EPD® System. Version 4.0, dated 2021-03-29.
www.environdec.com.

Instructions of the Australasian EPD Programme v4.1 - A
Regional Annex to the General Programme Instructions
of the International EPD System. Retrieved from EPD

Australasia: https://epd-australasia.com/wp-
2023/10/EPD-Australasia-Australasian-

Annex-to-GPI 4.1-2023-10-31.pdf

PCR 2019:14 Construction Products version 1.3.4 of
2024-04-30 (valid until 2025-06-20). EPD International.

EN 15804:2012+A2:2019; Sustainability of construction
works — Environmental product declarations — Core
rules for the product category of construction products .
Brussels: European Committee for Standardization.

Zafar, S. (2018). Waste Management Outlook for the
Middle East. In R. Brinkmann, & S. J.

Garren, The Palgrave Handbook of Sustainability (pp.
159-181).

For Middle East waste management

ISO 14040:2006; Environmental management — Life
cycle assessment — Principles and framework. Geneva:
International Organization for Standardization.

ISO 14044:2006; Environmental management — Life
cycle assessment — Requirements and guidelines.
Geneva: International Organization for Standardization.

ISO 14025:2006; Environmental labels and declarations
— Type lll environmental declarations — Principles and
procedures. Geneva: International Organization for
Standardization.

Sphera. (2023). Life Cycle Inventory Database 2023
Documentation. Retrieved from Sphera:
roduct-sustainability-gabi-data-

Global Head Office ASP Access Floors Pty Ltd
32 Prime Drive Seven Hills, NSW 2147, Australia
Tel: +61 2 9620 9915 Fax: +61 2 9620 9918
Email: sales@aspfloors.com.au
Web: www.aspfloors.com.au

PROUDLY “

ausTrALIAN 9508 ASP
OWNED w00 access floors

"' INTERNATIONAL




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20

